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~s= Comprueba si las siguientes restas estan bien realizadas:
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€ O SC O SC O DC O SC O SC O SC O DC O DSDCOC DCOXC DC X

~s= Comprueba si las siguientes restas estan bien realizadas:

o)
396 550

— 248 + —125 +
148 325
636 3851

—512 + — 428 +
184 423

XX oK X o< X o< X o< X o< XX o< X o< XX o< X o< X o< X o<
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€ O SC O SC O DC O SC O SC O SC O DC O DSDCOC DCOXC DC X

~s= Comprueba si las siguientes restas estan bien realizadas:

ok
708 594

— 256 + =192 +
432 402
973 631

— 328 + — 412 +
525 219

XX oK X o< X o< X o< X o< XX o< X o< XX o< X o< X o< X o<
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€ O SC O SC O DC O SC O SC O SC O DC O DSDCOC DCOXC DC X

~s= Comprueba si las siguientes restas estan bien realizadas:
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1.216 3.553

— 840 + —1.027 +
318 2.526
12.568 22.655

— 90.714 + —16.831 +
3.421 6.834
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